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d. | Such a mutation causes one chromosome to break off or become fragile.

Which of the following illustrates the genotype of
a male of blood group A and having the
hemophilia disease?
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Use the figure below to determine the amino Wyﬂ aedall Jodod aaadl sl JEAB asii
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What is the role of the structure shown in
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the figure below during protein synthesis? s e
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It transporis amino acids to the ribosome to synthesize the protein
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Which of the following is not a characteristic
of a person with albinism?
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Which of the following represents the structures (1)  dauagall (2) 3 (1) cuSLaD gl b Laa G
and (2) shown in the below figure? ool Join




@ Response Review - Google Chrome —

@ samoe.gov.ae/Analytics/QRevAll.aspx?smtreq=XIP6jbYTd6K1+WyMBC6IGO0e1Qjb/L/7WXsTOTPKUE +WYFpyFTEv+BOnj8LYHeiQ

Qit:. Mark(s): 5/5

Which of the following represents the structures (1)  dauagad (2) 5 (1) cuSLE gl 4 Lae 3
and (2) shown in the below figure? Tolial JSi
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Which of the following describes the Z.qhéb»“&ﬂw‘y@
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Which of the following genotypes results in
death in case of nondisjunction of sex
chromosomes?
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Which of the following is the first event of the IOy ddaje e Ja¥) Gl g4 o Laa S

unwinding during semiconservative replication? thilaall cial aldll J3a
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d. DNA polymerase catalyzes the addition of appropriate nucleotides to the DNA strand .
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Q6. Mark(s): /5.

Which of the following genetic disorders
cannot be represented by the inheritance
pattern shown by the pedigree below?
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The table below shows the cross of two @Mw@ww“w“
snapdragons plants, one white -flowered (CRC™) Ay M@ AVl (CYC™) el Ja
(C™C™) and the other pink-flowered (C"C"). el A AURD 1kl o6 el A sl (0 g1
Which of the following ratios describes the ol i Al g
phenotypes of the offspring?
c ™
oa e | oY RiRed Lal
TV | CVCW | CWCW | Wewmee o

l\22plnkmte .,..,1‘,44,22

=

Q'

J

-

| Marefey CrE

L5 Respomaamew-ﬁoogle Chrome - O X
@ samoe.gov.ae/Analytics/QRevAll.aspx?smtreq=XIP6jbYTd6K1+WyMBC6IGO0e1Qjb/L/7WXsTOTPKUE+WYFpyFTEv+BOnj8LYHeiQ Q
s
~



L Markis): 575

Which is true about eukaryotic gene Gl AlS Jsa Aasaus A Sitad) Ga
regulation? Sl ida
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Q.20:.
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The chromosomes do nol condense properly. issss §)sea; lagpugey SIl CBIS 20

The Hershey-Chase experiments provided
evidence that:
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strands, as shown in the figure below.

n
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The DNA strands are separated during replication as
each parent strand serves as a template for new

Which of the following represents Okazaki fragments?
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Q2.

The pedigree below illustrates the inheritance of
the dominant disorder Huntington's disease
across two generations.

The parents |(1) and I(2) had the child 1i(3) and
they wanted to know if this child could be
affected by Huntington's disease or not. Based
on the pedigree, predict the possible genotype(s)
of the child Ii(3).
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they wanted to know if this child couid be
affected by Huntington's disease or not. Based
on the pedigree, predict the possible genotype(s)
of the child 1i(3).
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Why can the deletion of a single nitrogen base in Saaly dday s Sl s el o oSy 3L
DNA due to a mutation be harmful to an organism? A Iy el e ik DNA D i
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Deletion causes chromosomes to join the wrong chromosome.
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Deletion causes a gamete to have an extra chromosome.
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Which of the following illustrates the genotype of
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